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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
U@ TSP Pl U= BRI §U.UP IS Dl ¢ ."U8 T {bdl & UaI S DI E "
TSP B IY ASHI b WY R JaU § 2
1. BfoH
I

. 3hd

|

L ¥ ]

4. qTHIG

Options :

68634078877. 1
68634078878. 2
68634078879. 3
68634078880. 4

Question Number : 20 Question Id : 68634019968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS TP Pl UR=Y BHRd §U.UD TSB! Dedl ¢ U8 HR bl & fUdI Hl FH d1 g g
TS P 39 ASD! b Y FT AU T 2

1. B
RIGiE)|

G

[ )

fad

4, alHIg

Options :

68634078877. 1
68634078878. 2
68634078879. 3
68634078880. 4

Question Number : 21 Question Id : 68634019969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g § T Orde Uavee TR SRIg0 & drel fay ®f gauud afga feagm s A s g 2
S CCAKE]]

. 3rofommT R

RGICRIRGI

4, TR dg=TR

Options :

68634078881. 1
68634078882. 2
68634078883. 3
68634078884. 4
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Question Number : 21 Question Id : 68634019969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 & 9 ATde TaiE R RIS 3 il [y @ gauu™ afgd [Gei S &g 2
P! el

. 0T g

. HTITcH AT

ORI SR

Options :

68634078881. 1
68634078882. 2
68634078883. 3
68634078884. 4

—
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Question Number : 22 Question Id : 68634019970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIE AR AT 0

YA : o Pl [RHR, YR e P GIR1 Ha < RIGR g | T3 22 U3 H [Ga1 Sar g

SYF I : 3R, P TRAVL I HBTEH! TR I R dlet YuH i ¥ 3% U8 TR 351
Q&I AT 39 & fer UTeed gaim Tl

S B & ATl 1, [GU T faed! F ¥ 95l SR &1 997 Sl
1. PUF 1 R II aF 9 &
YT IR I A 3T E

[ )

3. YT 1 9d ¢, dfp PYUT 11 39d &

4, PYTI I . AP TPYT I IIE

Options :

68634078885. 1
68634078886. 2
68634078887. 3
68634078888. 4

Question Number : 22 Question Id : 68634019970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR dieyTfeumu?
FYF 1 : WieT HHTEH [HR, YR FIed B 53R 9a 1 [OR § | T8 22 Il § e srar g |

SYF I : 3R, P TRAVL I HBTEH! TR I R dlet YuH i ¥ 3% U8 TR 351
Q&I AT 39 & fer UTeed gaim Tl

ST Bl & ATdS H, [3U T fadedi § ¥ 95l IR &1 997 Sl
1. PUF 1 R II aF 9 &
P 1 AR I AT ST 3

| )

3. YT 1 9d ¢, dfp PYUT 11 39d &

4 PYTI TS, AP T ST I ©

Options :

68634078885. 1
68634078886. 2
68634078887. 3
68634078888. 4

Question Number : 23 Question Id : 68634019971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gl 1 61 gl 11 9 e $ifsre

T 1 P T 11 T
A 6 I [aRol
B [aifigH mdaay | 1L [[9emEed
C.[ud dd 1L [@Tciiard
D |aprenmd IV. g fgwy w1
1= fl3u v faeedl & 9 gl SR &1 99 SIS

1. A-L. B-II. C-IIL. D-IV
2. A-IL B-III, C-IV, D-I
3. A-IV, B-IILL C-II. D-I
4. AL B-1. C-IV. D-II

Options :

68634078889. 1
68634078890. 2
68634078891. 3
68634078892. 4

Question Number : 23 Question Id : 68634019971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 161 g4l 11 9 i Sifere

T 1 S = 11 T
A e L [gfeoft
B.|3ffHg= g | 1L [lawmEed
CJdadd 111 [Freiery
D.|3mTemdt IV. [d w0y =]

Hid 30 70 [d@edi § ¥ 9l 3 &1 90 Sl ;

1. AL B-IL C-IIL D-IV
2. A-IL, B-III, C-IV, D-I
3. A-IV, B-IIL, C-II, DI
4. A-IL, B-1, C-TV, D-TI

Options :

68634078889. 1

68634078890. 2

68634078891. 3
68634078892. 4



Question Number : 24 Question Id : 68634019972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR FERTE:

HYF 1 : TP SIP Bl (Ao AR BT U 221 §31 Saiy & | U8 ST Bl UGed] & Si6l o ol
Ao ¢ [ T Wi 75 781 ao & suy Ui 78] Fod T&dn|

PYF I : 5961 IufRUTT o gy gauyy Afsfear Teer gR1 1783 T & T
SUddd PYAl & ATele O, 3T U [aswedl 3 9 951 SR 1 994 DIl

1. FY 1 AR A 9 &
U1 SR IS A ©

| )

3. PYTIII . AT pYT 11 3 &

4 PYTI TS, AP T ST I ©

Options :

68634078893. 1
68634078894. 2
68634078895. 3
68634078896. 4

Question Number : 24 Question Id : 68634019972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR FERTE:

FYT1: TP P 5l (AT R BT U 21§31 AT 5| U8 DR B UGedl & ool o ga-l
Aodgd © [ oo Wi 75 78 a® & su4 Y 781 Fod I&dl|

PYF I : 5961 IufRUTT o gy gauyy Afsfear Teer gR1 1783 T & T
SWad Bl & Tl H, (3T T [dPed] § ¥ 95l 3TR &1 99 Sl

1. FY 1 AR A 9 &
YT AR 11 GHI 3 A &

| B

3. PYTIII . AT pYT 11 3 &

4. FUF T e, AfpT FYT I 9d o

Options :

68634078893. 1
68634078894. 2
68634078895. 3



68634078896. 4

Question Number : 25 Question Id : 68634019973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIdie uae 1910 H grdifead faemdl ulug gryuried faan mn ur) fored .
1. THT AR R AR SR 3 PR 9gI8 o & [ad
2. - W9 B geqgder 941 5 YRl & ey 3R AT &l Seawdl 9= Syfd & feu

3. YRR P god Al UaH B auT fedl i i o1 fo1 ot o / geem & eRia™ § Sie o
% fer

4. ST/ ALTdIE & RGAD UBaC 6 ald SUardl & TRUGR H3H & [eU &

Options :

68634078897. 1
68634078898. 2
68634078899. 3
68634078900. 4

Question Number : 25 Question Id : 68634019973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIdie uae 1910 H grdifead faemdl ulug gryuried faan mn ur) fored .
1. THT AR R AR SR 3 PR 9gI8 o & [ad
2. - W9 B geqgder 941 5 YRl & ey 3R AT &l Seawdl 9= Syfd & feu

3. YRR P god Al UaH B auT fedl i i o1 fo1 ot o / geem & eRia™ § Sie o
% fer

4. ST/ ALTdIE & RGAD UBaC 6 ald SUardl & TRUGR H3H & [eU &

Options :

68634078897. 1
68634078898. 2
68634078899. 3
68634078900. 4

Part B: Biochemistry

Section Id : 686340396
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75

Number of Questions to be attempted : 75



Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340658
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statement about Homotropie.

1. For regulatory enzymes substrate and modulator are identical

[ )

. Modulator is a molecule other than substrate
3. Less- active enzyme
4. Active enzyme substrate complex

Options :

68634078901. 1

68634078902. 2

68634078903. 3
68634078904. 4

Question Number : 26 Question Id : 68634019974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sHCIU® & day ¥ 95! HYUF &1 997 B

0% TogH & U gawe aU Aisyeier Us 90 §

—

| )

 HiSeiex U], gaee 4 fF g

L]

. ichg TTgH

e

. FitpT TEH-Heic e Imdad

Options :

68634078901. 1
68634078902. 2
68634078903. 3
68634078904. 4

Question Number : 27 Question Id : 68634019975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Diisopropyl phosphofluoridate (DIPF) act as:

1. Inhibitor of enzymes with serine at active site

2

. A type of 1rreversible inhibitor
3. Reduces the synthesis of prostaglandin
4. Mechanism based inhibitor

Options :

68634078905. 1
68634078906. 2
68634078907. 3
68634078908. 4

Question Number : 27 Question Id : 68634019975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEAEHUTRT PRGITARISe (DIPF) 9 ToR @ &1 3dl &-

1. Ifthd Wd R O3H &1 Iufufd ad Tosd &1 dera adl &

2. U8 US SgahH g HeHd & JFR §
3. MeTcifa I2v0 &l oH $idl o
4. Topan aneTiRd TSgHS

Options :

68634078905. 1
68634078906. 2
68634078907. 3
68634078908. 4

Question Number : 28 Question Id : 68634019976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Type IV- delayed hypersensitivity is not caused by
1. Macrophage
2. Lymphokines
3. Circulating antibodies
4, T- cells
Options :

68634078909. 1
68634078910. 2



68634078911. 3
68634078912. 4

Question Number : 28 Question Id : 68634019976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- IV f5us seudiefed e grradt aidi & -
1. Hep BT
AGLECAERS
- YHUIT gidRelt
4. T- DI
Options :
68634078909. 1
68634078910. 2

68634078911. 3
68634078912. 4

| )

[#5]

Question Number : 29 Question Id : 68634019977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statement 1s correct about enzyme ?

1. A bio catalyst that increases the rate of chemical reaction
2. A biocatalyst that inhibit the rate of chemical reaction
3. Non specific in nature
4. All enzymes are proteinacious in nature

Options :

68634078913. 1

68634078914. 2

68634078915. 3
68634078916. 4

Question Number : 29 Question Id : 68634019977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T o 9 10 91 Sy g & ol 981 ¢

TS 9Id JoR®, wl RS fParHl R aerdreg

TP 919 IORP, Ol TS 5501 B &R B GeHd HRa1 &
TaTHTg H AERfee g 8
TS H UIEH Mg F Bid ©

Options :

68634078913. 1
68634078914. 2
68634078915. 3
68634078916. 4
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Question Number : 30 Question Id : 68634019978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Oxidases act as
1. Use oxygen as an electron acceptor but donot incorporate it into the substrate.

2. Directly incorporate oxygen into the substrate

3. Use H,0, as an electron acceptor

4. Use molecules other than oxygen (eg : NAD ) as an electron acceptor

Options :

68634078917. 1
68634078918. 2
68634078919. 3
68634078920. 4

Question Number : 30 Question Id : 68634019978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS {5 @l el g

1. SIS 1 WO US SoiacH UTel & &0 8 &dl ¢ IR=] 54 a1 R § STAfad 9! @l g
. SieiioH o Y fohareR & ST el gl
. H0, T 50de Ulel & =0 § Ja Sl |

4. HIFHIS & 3=UT HUHT (I&T. NAD™) DT YTRT SAac Ulel & =0 I

[ )

Lad

Options :



68634078917. 1
68634078918. 2
68634078919. 3
68634078920. 4

Question Number : 31 Question Id : 68634019979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Enantiomers are special type of stereoisomers that are:

1. isobars of each other

b2

. 1sotopes of each other
3. Not the mirror image of each other
4. Mirror image of each other

Options :

68634078921. 1
68634078922. 2
68634078923. 3
68634078924. 4

Question Number : 31 Question Id : 68634019979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hiofdaea, Eiiafdasdml o1 oy TeR &, 5
U T P HEHER T
TP G P 3MGHEI T
UF GHR & SEF T8l 5
TP TR B DD 3|
Options :
68634078921. 1
68634078922. 2

68634078923. 3
68634078924. 4
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Question Number : 32 Question Id : 68634019980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the biologically active form of vitamin-D that regulates calciam levels in the kidney
and bones?

1. 7-dehydrocholesterol

| )

. 24. 25-dihydroxycholecalciferol
3. 1-e-25- dihydroxycholecalciferol
4. Cholecalcitferol

Options :

68634078925. 1
68634078926. 2
68634078927. 3
68634078928. 4

Question Number : 32 Question Id : 68634019980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faerfeq - D &1 Srdta BT fawT 5 g auT iRyl & Hfeemm TR &1 g axar g

1. 7-fSqlasIIdwd

| )

24, 25 BISEIS D [t (e bR

 1-0-25- SIRERGIFIID b T hId

[#5]

L

4. BIPeBId

Options :

68634078925. 1
68634078926. 2
68634078927. 3
68634078928. 4

Question Number : 33 Question Id : 68634019981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Biological value of proteins can be defined as -

. Nitrogen retained

1. BV = — » 100
Nitrogen absorbed
2 BV= an'ogcn Fctmned <100
Nitrogen ingested
Nitrogen retained
3.BV = — CEEN TR —— %100
Nitrogen absorbed —Nitrogen retained
4 BV= N1.Imgcn 'C’IleOI'de <100
Nitrogen ingested
Options :

68634078929. 1
68634078930. 2
68634078931. 3
68634078932. 4

Question Number : 33 Question Id : 68634019981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 @t g aer g yeRr ysiid gid &

_ Nitrogen retained

1. BV=— = 100
Nitrogen absorbed

2 BV= an'ogcn Fctamcd <100
Nitrogen ingested

3.BV=— Nitrogen rcrtraincd X100
Nitrogen absorbed —Nitrogen retained

4 BV = N1‘Imgcn zinbsorhcd <100
Nitrogen ingested

Options :

68634078929. 1
68634078930. 2
68634078931. 3
68634078932. 4

Question Number : 34 Question Id : 68634019982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following parameter 1s used to assess the rise in msulin following consumption of any food

1. PDCAAS

| B

. Nitrogen balance
3. Glycemic Index
4. Glycogen Index

Options :

68634078933. 1
68634078934. 2
68634078935. 3
68634078936. 4

Question Number : 34 Question Id : 68634019982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{4 Tepl 21157 & UB U1 & JURId S/ d¢- 1 AI9GS sidl & |
1. PDCAAS
2. ATEcio gLy
3. TS soad

[ [

4, TSR soT

Options :

68634078933. 1
68634078934. 2
68634078935. 3
68634078936. 4

Question Number : 35 Question Id : 68634019983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Water can dissolve many organic molecules due to
1. Dipolar character and ability to form hydrogen bond
2. Hydrophilic character and high conductance
3. Amphiphilic character and high insultation capacity

4. Hydrophobic character and ability to form disulfide bond

Options :
68634078937. 1



68634078938. 2
68634078939. 3
68634078940. 4

Question Number : 35 Question Id : 68634019983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oIe faf3e BRIga S &1 (4% 01 & SR °id Hovdl |
& Ydig 7707 9UT SRISISH §Y G B &l
. BIS Sl 101 9ul 3= Heacd
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Options :

68634078937. 1
68634078938. 2
68634078939. 3
68634078940. 4

Question Number : 36 Question Id : 68634019984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cellulose is an unbranched polymer of glucose residues joined by

1. o-1, 4 linkage

| )

. a1, 6 linkage

Lad

. B-1. 4 linkage
4. B-1. 6 linkage

Options :

68634078941. 1
68634078942. 2
68634078943. 3
68634078944. 4

Question Number : 36 Question Id : 68634019984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y@, T 19 YIS &1 79 &% & TR IR &1 RME 1Y 9509 §

1. <149
2. 0c-1, 6 9Y
3.p-1.49Y
4.p-1,69Y

Options :

68634078941. 1

68634078942. 2

68634078943. 3
68634078944. 4

Question Number : 37 Question Id : 68634019985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A person having a BMI of 35 will be categorized as

1. Healthy

(B

. Grade I obesity/ overweight
3. Grade II/ Clinical obesity
4. Grade [II/Morbid Obesity

Options :

68634078945. 1

68634078946. 2

68634078947. 3
68634078948. 4

Question Number : 37 Question Id : 68634019985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
35 M GTCT Safad 19 SUT H <@ S
1. W
 9yoff 1 |reTT/ sfafed YR
. Uit 11/ ST er e
4. 9uft 111/ I Giemr

Options :
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68634078945. 1
68634078946. 2
68634078947. 3
68634078948. 4

Question Number : 38 Question Id : 68634019986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following additives need to be added to the blood sample to prepare serum for any clinical
analysis?

1. Citrate

| )

. Oxalate
3. EDTA
4. No additives are required

Options :

68634078949. 1
68634078950. 2
68634078951. 3
68634078952. 4

Question Number : 38 Question Id : 68634019986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & uged fobd S arel USifed o1 g & foia1 uainT ¥ed & 957 # fdaf-ied oig & fou Rra s
I fpar smar g

1' 5.«
SIERN
3. EDTA
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Options :

68634078949. 1
68634078950. 2
68634078951. 3
68634078952. 4
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Question Number : 39 Question Id : 68634019987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prostaglandins are synthesized in vivo from the 20-carbon polyunsaturated fatty acid

1. Oleic acid

2

. Arachidonic acid
3. Cervonic acid
4, Linoleic acid
Options :
68634078953. 1
68634078954. 2

68634078955. 3
68634078956. 4

Question Number : 39 Question Id : 68634019987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRENTAS 1 SReNUl Sifd] & 20-Ta4 ard FY giisiRaRics a4y ong ¥ faar ondr g
1. 3fifciep 3
2. 3RfPeIHID 3
3. IRaAl-® 3
4. ToFITeTe 3
Options :
68634078953 1
68634078954. 2

68634078955. 3
68634078956. 4

Question Number : 40 Question Id : 68634019988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Creatinine 1s used to assess the renal glomerular functions because

1. Creatinine is easy to estimate

| )

. The value of creatinine clearance is close to GFR
3. The excretion of creatinine is not constant
4. All of the above

Options :

68634078957. 1
68634078958. 2



68634078959. 3
68634078960. 4

Question Number : 40 Question Id : 68634019988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fepufef i &1 v d9d Wi m sfiaa oA & e eRU T far e s
fpufea o1 aE S g E
forufed FTPRA SR GFR F U B §
fepufe o1 waufone U@ 99 6l BiaT ©
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Options :

68634078957. 1
68634078958. 2
68634078959. 3
68634078960. 4

—

| )
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Question Number : 41 Question Id : 68634019989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 20 year old boy was advised a liver function test by the doctor upon complaining of pain in the abdominal
region and yellowing of nails. Subsequently he was diagnosed of hepatic jaundice. Which of the following
would you expect in his test report ?

L. Increased activity of ALT and AST

| )

. Only increased activity of ALP
3. Only increased activity of AST
4. Only increased activity of ALT

Options :

68634078961. 1
68634078962. 2
68634078963. 3
68634078964. 4

Question Number : 41 Question Id : 68634019989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[#5]

Options :

68634078961. 1
68634078962. 2
68634078963. 3
68634078964. 4

Question Number : 42 Question Id : 68634019990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Niemann- Pick disease 1s caused due to a genetic deficiency of

1. p- Galoctosidase

[

. Ceramidase

[F5]

. Sphingomyelinase
4. oc - Galoctosidase

Options :

68634078965. 1
68634078966. 2
68634078967. 3
68634078968. 4

Question Number : 42 Question Id : 68634019990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- A1 I -9 31aife o8l & SRUBI 6|
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Options :

68634078965. 1
68634078966. 2
68634078967. 3
68634078968. 4

Question Number : 43 Question Id : 68634019991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The condition fatal infantile mitochondrial myopathy and renal dysfunction involves
1. Presence of fumarate
2. Absence of most oxidoreductases of respiratory chain

3. Presence of most oxidoreductases of respiratory chain

4. Absence of succinate
Options :
68634078969. 1
68634078970. 2

68634078971. 3
68634078972. 4

Question Number : 43 Question Id : 68634019991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g0 SR & TSas! © O] Ul SFad] sh-esd dscidiigad Ao § 4 s g
1. TOHERE &1 3uiufd
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Options :

68634078969. 1
68634078970. 2
68634078971. 3
68634078972. 4

Question Number : 44 Question Id : 68634019992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 1s not a part of the cytoskeleton?

1. Serpin

| B

. Tubulin
3. Actin
4, Kelatin

Options :

68634078973. 1
68634078974. 2
68634078975. 3
68634078976. 4

Question Number : 44 Question Id : 68634019992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad 5 S B ST UoR BT URTTEI & 2
1. WA
4, fopaifc
Options :
68634078973. 1
68634078974.2

68634078975. 3
68634078976. 4

| ]

(5]

Question Number : 45 Question Id : 68634019993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Cyanide 1s probably the most potent mnhibitor of electron transport chain. It binds to:
1. NADH dehydrogenase
2. ATP synthase

3. Succinate dehydrogenase

4. Fe*™ of cytochrome oxidase

Options :
68634078977. 1



68634078978. 2
68634078979. 3
68634078980. 4

Question Number : 45 Question Id : 68634019993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y0Gd: AIOAIES sadeH Cidie Sadl &1 9ad 9ei® G0 g | 98 9 4 dY g g
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. ATP f¥iUg
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Options :

68634078977. 1
68634078978. 2
68634078979. 3
68634078980. 4

[

L]

Question Number : 46 Question Id : 68634019994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mass-to-Charge or m/z ratio can be measured through

1. Gas chromatography

(B

. UV=vis spectrophotometer
3. Fluorescence spectrophotometer
4. Mass spectrophotometer

Options :

68634078981. 1
68634078982. 2
68634078983. 3
68634078984. 4

Question Number : 46 Question Id : 68634019994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078981. 1
68634078982. 2
68634078983. 3
68634078984. 4

Question Number : 47 Question Id : 68634019995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following organelle is pelleted first during sub-cellular fractionation by differential
centrifugation at 1000 g for 10 minutes

1. Nuclei

[ ]

. Mitochondria

L¥%]

. Lysosome
4. Endoplasmic reticulum

Options :

68634078985. 1
68634078986. 2
68634078987. 3
68634078988. 4

Question Number : 47 Question Id : 68634019995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078985. 1
68634078986. 2
68634078987. 3
68634078988. 4

| )

(5]
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Question Number : 48 Question Id : 68634019996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Another name for cardio lipin is

—

. Phosphatidyl choline

b2

. Phosphatidyl serine

L¥ 5]

. Phosphatidyl inositol

=

. Diphosphatidyl glycerol

Options :

68634078989. 1
68634078990. 2
68634078991. 3
68634078992. 4

Question Number : 48 Question Id : 68634019996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078989. 1
68634078990. 2
68634078991. 3
68634078992. 4

Question Number : 49 Question Id : 68634019997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which compound in red cells 1s crucial in determining the oxygen affinity of haemoglobin ?

1. Inositol triphosphate

| B

. Glyceraldehyde-3-phosphate
3. 2. 3- Bisphosphoglycerate
4. Phosphatidyl inositol

Options :

68634078993. 1
68634078994. 2
68634078995. 3
68634078996. 4

Question Number : 49 Question Id : 68634019997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT Xe SR B feriaifas @t siadior sue g e Tard gR Fufa gar g
faEaiseds -3- BrEbe
3.2.3- [qgmEmTEe
Options :
68634078993. 1
68634078994. 2

68634078995. 3
68634078996. 4

fa—y
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Question Number : 50 Question Id : 68634019998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Proteins can be separated electrophoretically on the basis of net acidic and basic charge through

1. Isoelectric focusing

2

. Differential centrifugation
3. Countercurrent immunoelectrophoresis
4, Pulse field gel electrophoresis

Options :

68634078997. 1
68634078998. 2
68634078999. 3
68634079000. 4

Question Number : 50 Question Id : 68634019998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IS & Soiae (B IRICHd SRI Siudl &R fa%h YR 0 HH §R1YY@ (a1 Sl 9l ¢ |
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Options :

68634078997. 1
68634078998. 2
68634078999. 3
68634079000. 4

Question Number : 51 Question Id : 68634019999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Molarity 1s defined as

1. No. of moles of solute in 1 liter of solution

[

. No. of moles of solute in 1 kg of solvent
3. No. of moles of solvent in 1 kg of solute

4. No. of moles of salt in 1 liter of solvent

Options :
68634079001. 1



68634079002. 2
68634079003. 3
68634079004. 4

Question Number : 51 Question Id : 68634019999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HieRel 1 3 =g § aRuiivd far S s -
1, 1 Tifex °iel # faeia & Aieil &1 He
1 Tooerl faemaes # facig & Aial &t e
1 Toatl facig # faaae & Aiei &t dwe
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Options :

68634079001. 1
68634079002. 2
68634079003. 3
68634079004. 4

[

L]

Question Number : 52 Question Id : 68634020000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synthesis of 2.3-bisphosphoglycerate increases in high altitude because:

1. 2.3-bisphosphoglycerate favours the relaxed state of haemogobin

[ ]

. 2.3-bisphosphoglyecerate serves as an enerey source at high altitudes
phosphogls 2y 2

LIPS ]

. 2.3-bisphosphoglycerate stabilizes the T-conformation of haemoglobin. thereby decreasing the oxygen
affinity of haemoglobin, making it more available to the peripheral tissues.

4. 2.3-bisphosphoglycerate regulates body temperature

Options :

68634079005. 1
68634079006. 2
68634079007. 3
68634079008. 4

Question Number : 52 Question Id : 68634020000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079005. 1
68634079006. 2
68634079007. 3
68634079008. 4

Question Number : 53 Question Id : 68634020001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The drug sildenafil (Viagra) works by:

1. Relaxation of smooth muscles and vasodilation by activating geranylyl eyclase

[ )

. Contraction of smooth muscles and vasodilation by activating adenylyl cyclase
3. Relaxation of smooth muscles and vasodilation by inhibiting cGMP phosphodiesterase
4. Contraction of smooth muscles and vasoconstriction by activating cGMP phosphodiesterase

Options :

68634079009. 1
68634079010. 2
68634079011. 3
68634079012. 4

Question Number : 53 Question Id : 68634020001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079009. 1
68634079010. 2
68634079011. 3
68634079012. 4

Question Number : 54 Question Id : 68634020002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the pump Na™ - K™ ATPase during active transport. hydrolysis of ATP provides energy for:

1. 4 mole of Na™~ out of cell and 4 mole of K inito cell

| )

. 1 mole of Na™ out of cell and 1 mole of K7 into cell
3. 3 mole of Na™ out of cell and 2 mole of K into cell

4. 2 mole of Na™ into the cell and 3 mole of K out of cell

Options :

68634079013. 1
68634079014. 2
68634079015. 3
68634079016. 4

Question Number : 54 Question Id : 68634020002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Na™ - K~ UT ATPase 1T ¢IREIC & SR ATP BSOS RN ¥ 37 Holl HH 8q U= 8l 81
1. Na™ @ 4 TIe] 3{U] SDITRIT ¥ G186 TUT K™ & 4 T U] BIADT & 3ie
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3. Na™ 1 3 HIel U] BT T 6 dUT K™ 2 Hid 3] DIRADT & 37
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Options :

68634079013. 1
68634079014. 2
68634079015. 3
68634079016. 4

Question Number : 55 Question Id : 68634020003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Inspiratory Capacity (IC) can be calculated as

1. Tidal Volume (TV) + Inspiratory Reserve Volume (IRV)

| B

. Tidal Volume (TV) + Expiratory Reserve Volume (ERV)

LF¥]

. Tidal Volume (TV) - Inspiratory Reserve Volume (IRV)
4. Expiratory Reserve Volume (ERV) - Inspiratory Reserve Volume (IRV)

Options :

68634079017. 1
68634079018. 2
68634079019. 3
68634079020. 4

Question Number : 55 Question Id : 68634020003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079017. 1
68634079018. 2
68634079019. 3
68634079020. 4

Question Number : 56 Question Id : 68634020004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In E.coli lac operon. the lac repressor binds to the operator region 1n the absence of lactose.

1. Very weakly

[ B

. Very strongly

LF%]

. Not binds

4. None of the above

Options :
68634079021. 1



68634079022. 2
68634079023. 3
68634079024. 4

Question Number : 56 Question Id : 68634020004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079021. 1
68634079022. 2
68634079023. 3
68634079024. 4

Question Number : 57 Question Id : 68634020005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One of the major drawback of transgenic plants/crops is

1. They are often observed to be less productive

[

. They are more prone for diseases
3. They may indulge in unwanted horizontal spread of transgene
4. They often produce poor quality of seeds

Options :

68634079025. 1
68634079026. 2
68634079027. 3
68634079028. 4

Question Number : 57 Question Id : 68634020005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079025. 1
68634079026. 2
68634079027. 3
68634079028. 4

| )
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Question Number : 58 Question Id : 68634020006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The protein synthesis process in prokaryotes is unique because, in them:

1. Transcription is not followed by Translation

[ )

. Translation is followed by Transcription

L]

. Transcription is coupled with translation
4. Either transcription or translation - only one process takes place
Options :
68634079029. 1
68634079030. 2

68634079031. 3
68634079032. 4

Question Number : 58 Question Id : 68634020006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634079029. 1
68634079030. 2
68634079031. 3
68634079032. 4

Question Number : 59 Question Id : 68634020007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the biocatalyst among the given four examples:

1. Lysosome

[ )

. Ribozyme
3. Chromosome
4. Golgi Vesicle

Options :

68634079033. 1
68634079034. 2
68634079035. 3
68634079036. 4

Question Number : 59 Question Id : 68634020007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634079033. 1
68634079034. 2

68634079035. 3
68634079036. 4

| )
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Question Number : 60 Question Id : 68634020008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Ramachandran Plot. the angle of rotation lies between:

1. - 120° to + 180 degrees

| B

.- 180° to + 180 degrees
3. - 90° to + 90 degrees
4. - 180° to + 120 degrees

Options :

68634079037. 1
68634079038. 2
68634079039. 3
68634079040. 4

Question Number : 60 Question Id : 68634020008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 9% | UG v (8 gid o
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Options :

68634079037. 1

68634079038. 2

68634079039. 3
68634079040. 4

| ]

Question Number : 61 Question Id : 68634020009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The following chemical compound is used in gene transfer using physical delivery methods:
1. Paradichlorobenzene
2. Polyethylene glycol

3. Chloramphenicol

4. Colchicine

Options :
68634079041. 1



68634079042. 2
68634079043. 3
68634079044. 4

Question Number : 61 Question Id : 68634020009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079041. 1
68634079042. 2
68634079043. 3
68634079044. 4

L]

Question Number : 62 Question Id : 68634020010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

During cell division protein degradation (proteolysis) is facilitated by:

1. Amino acyl synthetase pathway

b2

. Restriction endonuclease pathway

LFS]

. ATPase pathway

=

. Ubiquitin pathway

Options :

68634079045. 1
68634079046. 2
68634079047. 3
68634079048. 4

Question Number : 62 Question Id : 68634020010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079045. 1
68634079046. 2
68634079047. 3
68634079048. 4
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Question Number : 63 Question Id : 68634020011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Sanger's DNA sequencing. for chain termination of replication is used.

1. 5' - methyleytosine

[

. 2", 3' -dideoxy analog
3.2, 3' - deoxy analog
4. 2", 3' - cyclic cAMP

Options :

68634079049. 1
68634079050. 2
68634079051. 3
68634079052. 4

Question Number : 63 Question Id : 68634020011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I DNA a0 Xqeite 9 § =49 arga § g &1 v e 9 &-
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Options :



68634079049. 1
68634079050. 2
68634079051. 3
68634079052. 4

Question Number : 64 Question Id : 68634020012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The commonly used antibiotic "Erythromyein" is produced by:

1. Bacillus licheniformis

[ )

. Streptomyces erythreus
3. Pencillium chrysogenum
4. Streptomyces antibioticus

Options :

68634079053. 1
68634079054. 2
68634079055. 3
68634079056. 4

Question Number : 64 Question Id : 68634020012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079053. 1

68634079054. 2

68634079055. 3
68634079056. 4
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Question Number : 65 Question Id : 68634020013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In nucleosome model. the dsDNA is wound on which molecular structure to give organisation to DNA into
chromatin

1. H1 molecule
2. Histone protein Octamer
3. Nuclear membrane
4. Lysosomes
Options :
68634079057. 1
68634079058. 2

68634079059. 3
68634079060. 4

Question Number : 65 Question Id : 68634020013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jfaaaay A1sa | dsDNA 4 31ftass TRem1 | fueaR DNA e & T Sl gl

1. H1 3]
e H UidH 3R

iR et
4, AT

Options :

68634079057. 1
68634079058. 2
68634079059. 3
68634079060. 4
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L

Question Number : 66 Question Id : 68634020014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The second law of thermodynamics states that the total entropy of a system plus that of its
surroundings always increases.

Reason R: The release of water from nonpolar surfaces responsible for the hydrophobic effect is favourable
because water molecules free in solution are more disordered than they are when they are associated with
nonpolar surfaces.

In the light of above. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R correct but R is not the correct explanation of A
3. A is correct but R is incorrect
4. A is correct but R is incorrect

Options :

68634079061. 1

68634079062. 2

68634079063. 3
68634079064. 4

Question Number : 66 Question Id : 68634020014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A SR R &HI 961 € SR R A T W81 ARE §
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Options :

68634079061. 1
68634079062. 2
68634079063. 3



68634079064. 4

Question Number : 67 Question Id : 68634020015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Subtrates are bound to enzymes by multiple weak attraction. The noncovalent interaction in ES
complex are much weaker than covalent bond. which have energies between - 210 and - 460 kj mol™L.

Reason R: The mechanism of catalysis is dynamic. involving structural changes with multiple intermediates
of both reactants and enzymes.

In the light of above. choose the correct answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A

2. Both A and R correct but R is not the correct explanation of A

3. A is correct but R is incorrect

4. A is correct but R is incorrect

Options :

68634079065. 1
68634079066. 2
68634079067. 3
68634079068. 4

Question Number : 67 Question Id : 68634020015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HRUTR: ISR 1 Granfafy wfdea it & o Rumee qur TomgH & 959 I Heaad o] -d & aul
TRATHD g9 A B |

Sudad B & A 1, fAU 7T fadhedi T 1 951 IR &1 997 o

1. A 3R R 3FI 81 € 3R R. A B Tel AR E
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A SRR GHI W8l § IR R. A D! UE! oOre a1 §
ATSIEAPTR TR ST ®
AT TSR AP R TR

Options :

68634079065. 1
68634079066. 2
68634079067. 3
68634079068. 4
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Question Number : 68 Question Id : 68634020016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Nerve impulses are communicated across synapses by small, diffusible molecules called
neurotransmitters. Acetylcholine receptor 1s best understood ligand-gated channel. Acetylcholine opens a

single kind of cation channel called acetylcholine receptor, which is almost equally permeable to Na™ and K.

. . - . g KN - e
Reason R: P-type ATPases. which include the sarcoplasmic reticulum Ca“” ATPase and Na™ - K™ ATPase. are
integral membrane proteins with conserved structures and catalytic mechanisms.

In the light of above. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R true but R is not the correct explanation of A
3. Ais true but R 1s false

4, A is false but R is true

Options :



68634079069. 1
68634079070. 2
68634079071. 3
68634079072. 4

Question Number : 68 Question Id : 68634020016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079069. 1
68634079070. 2
68634079071. 3
68634079072. 4
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Question Number : 69 Question Id : 68634020017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Enzyme sucrase will not bind and act on other disaccharides such as maltose.
Reason R: Due to enzyme specific functionality enzyme sucrase act only on sucrose.
In the light of above. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R true but R 1s not the correct explanation of A
3. Ais true but R 1s false
4. A 1s false but R is true
Options :
68634079073. 1
68634079074. 2

68634079075. 3
68634079076. 4

Question Number : 69 Question Id : 68634020017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079073. 1
68634079074. 2
68634079075. 3
68634079076. 4

Question Number : 70 Question Id : 68634020018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The number of Adenine bases in a DNA molecule is always equal to Thymine bases.

Reason R: As per Chargaff's principle. in a given DNA molecule the proportion of purines and pyrimidines 1s
always equal.

In the light of above. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R true but R 1s not the correct explanation of A
3. A is true but R 1s false
4. A is false but R is true

Options :

68634079077. 1

68634079078. 2

68634079079. 3
68634079080. 4

Question Number : 70 Question Id : 68634020018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079077. 1
68634079078. 2
68634079079. 3
68634079080. 4



Question Number : 71 Question Id : 68634020019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: In yeast. a single Cdk (Cyclin dependent Kinases) viz. Cdk] controls the cell cycle progression.

Reason R: In mammalian cells. minimum two or in special situation more than two Cdks control the cell
progressioi.

In the light of above, choose the correct answer from the options given below:
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R true but R is not the correct explanation of A
3. A s true but R 1s false

4, A is false but R is true

Options :

68634079081. 1
68634079082. 2
68634079083. 3
68634079084. 4

Question Number : 71 Question Id : 68634020019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634079081. 1



68634079082. 2
68634079083. 3
68634079084. 4

Question Number : 72 Question Id : 68634020020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Plants raised in-vitro. through tissue culture technique often exhibit morphological and genetic
variations.

Reason R: Plant genetic fidelity often gets unpacted by somaclonal variations.

In the light of above, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R true but R is not the correct explanation of A
3. A is true but R 1s false

4, A is false but R is true

Options :

68634079085. 1
68634079086. 2
68634079087. 3
68634079088. 4

Question Number : 72 Question Id : 68634020020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634079085. 1
68634079086. 2
68634079087. 3
68634079088. 4
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Question Number : 73 Question Id : 68634020021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following events occuring in a JAK/STAT signaling pathway in the correct sequence:

A Phosphorylation of Tyr residues on receptor by JAK

B. Bmding of ligand to receptor

C. Dimerisation of receptor

D. Binding of STAT to phosphorylated Tyr and phosphorylation of STAT by JAK

E. Dimerisation of phosphorylated STAT followed by translocation of STAT dimer to nucleus to modulate
gene-expression.

Choose the correct answer from the options given below:
LG BoA:; B
2B.CADE
33 BLAC.E.D
4. A B.C.D.E
Options :
68634079089. 1

68634079090. 2
68634079091. 3



68634079092. 4

Question Number : 73 Question Id : 68634020021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JAK / STAT Faau &8 © g vearsii & 9el e § =99+ maiford &9 -

A. Tyr 3G9 &I JAK Tel TR BPRORGYH

B. ferile o1 RUpR iR &eH

. U &1 sraRIEeeH (fgashz

D. BB RACS Tyr ®1 STAT I a8 dUl STAT DI JAK GRI BRD REA

E. WS%WWW% STAT STIHR & Had TR IRRITTH o SfiF ffveafad
TSI il

i AU Y fdeedl O U 998 U ST &1 99 BIfuIg:

1.€. B A DE

2:8.C.ADE
3B A E, D
4.A.B.C,D.E

Options :

68634079089. 1
68634079090. 2
68634079091. 3
68634079092. 4

Question Number : 74 Question Id : 68634020022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Protems destined to be secreted, move through the secretory pathway i which of the following order
A. Cell surface
B. Rough endoplasmic reticulum
C. Secretary vesicle
D. Transport vesicle
E. Golgi complex
Choose the correct answer from the options given below:
1LAB.CDE
2.4:,8B,D,€C,EB
3.E;B, €. DA

4.B.D.E.C.A



Options :

68634079093. 1
68634079094. 2
68634079095. 3
68634079096. 4

Question Number : 74 Question Id : 68634020022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grdt wreH.grdt anf @ fsg sn dwfaa siar e
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B. Ga3! USI@les Cliagay
C. F1dt adied
D. dlfgeh] a4ida
E. T Shiiciay

19 f3u Tt fasedl § 4 &l I9ged SR &1 999 DifIu:

1.LAB,C.D.E

[

ABIDCE
3.E.B.C, DA
4. B.D.E.C.A

Options :

68634079093. 1
68634079094. 2
68634079095. 3
68634079096. 4

Question Number : 75 Question Id : 68634020023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the enzymes in sequence on the basis of their involvement in citric acid cycle.

A. Aconitase

B. Isocitrate dehydrogenase
C. Fumarase

D. Malate-dehydrogenase
E. Succmate dehydrogenase

Choose the correct answer from the options given below:

1.LA,B,C,D.E
2Z2E.D.CAB
3.AB.E.C.D
4.D,C, B, AE

Options :

68634079097. 1

68634079098. 2

68634079099. 3
68634079100. 4

Question Number : 75 Question Id : 68634020023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qrafed o 9% H WON UgH & Yal $H &1 90 @9 ;

A. TBI-cH
B. HsTAMee fegmsiforg

C. TgH
D. Hoic [Sgagiior
E. 9Hi-e fsgmsifory

19 f3u T fasedl ¥ 4 &l I9gad SR &1 99 Difolg:

1LAB CDE

2Z2ED.CAB
3JABECD
4 D.C.B.A.E

Options :

68634079097. 1
68634079098. 2
68634079099. 3
68634079100. 4



Question Number : 76 Question Id : 68634020024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Write the correct sequence of intermediates formed during Pentose Phosphate pathway.

A. 6-phosphogluconate

B. Ribose-5-phosphate

C. Sedoheptulose-7-phosphate
D. Glucose-6-phosphate

E. Ribulose-5-phosphate

Choose the correct answer from the options given below:
1.B,C.D,E. A
2.A.D.B.E.C
3B, B E

4.D,A.B.E,C

Options :

68634079101. 1
68634079102. 2
68634079103. 3
68634079104. 4

Question Number : 76 Question Id : 68634020024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UeI BrEhe A B & aTd ifaRed e &l =g+ Hifee
A. 6-BREBRYDIT

B. A5d-5-PRpC
c. ISR dlv-7-bRhe
D. P H-6-BEHC
E. Rgdg-5-5rpe

i< fau 7Y fae el ¥ O 98 U ST 1 99 DIfuIL:
1.B, G D.EA
2.A.D.B.E.C
3.A.B.C.D.E
4.D.A.B.E.C
Options :

68634079101. 1
68634079102. 2



68634079103. 3
68634079104. 4

Question Number : 77 Question Id : 68634020025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the inereasing order in which they are excreted in a normal healthy individual

A, Urea

B. Glucose
C. Sodium
D. Water

Choose the correct answer from the options given below:

1.D.A.C.B
2.B.C.D,A
3B.C.A.D
4.B.A.C.D

Options :

68634079105. 1

68634079106. 2

68634079107. 3
68634079108. 4

Question Number : 77 Question Id : 68634020025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1% 1 U Trad Oy ofdd | 9§ 39D Hehia & oH § S1aifeid oIy ;
A gRAT
B. B
C. gitsay
D. 9d

i fau U fde el O O 98 U IR 1 99 HIIU:

1.D.A.C.B

2.B,.€.D.A
3.B,.CAD
4 B.A.C.D

Options :
68634079105. 1



68634079106. 2
68634079107. 3
68634079108. 4

Question Number : 78 Question Id : 68634020026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in inereasing order of their diameter:

A.HDL

B. VLDL

C. Chylomicron
D.LDL

Choose the correct answer from the options given below:
1.A.D.B.C
2DACB
3A,B,C.D
4 A B. I, C

Options :

68634079109. 1
68634079110. 2
68634079111. 3
68634079112. 4

Question Number : 78 Question Id : 68634020026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g &I 390 I & dgd PHH

A HDL
B. VLDL

C. PIOAHIHA
D.EDE

12 fau Y faeedi O O 98 U ST &1 99 BIfoIg:

1.A D B, C

2

.D.A.C.B
3 A B.ED
4. A.B.D,C

Options :
68634079109. 1



68634079110. 2
68634079111. 3
68634079112. 4

Question Number : 79 Question Id : 68634020027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events responsible for colon cancer in the correct order in which they occur.

A. The benign adenoma progresses to a malignant adenoma.

B. A single mutated cell starts to proliferate abnormally, giving rise to a proliferative cell population.

C. The cancer cells invade the underlying connective tissue and penetrate the blood and lymphatic vessels,
thereby spreading throughout the body.

D. Additional mutations follow. leading to subsequent formation of an adenoma.

Choose the correct answer from the options given below:
1.B.D.A.C
2B.D.CA
3.CADB

4 B.A.D.C

Options :

68634079113. 1
68634079114.2
68634079115. 3
68634079116. 4

Question Number : 79 Question Id : 68634020027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 &1 BT HIR FRS T3 & el v § AGIorT B

A. SIS TSH-aT @1 AferHe T o gaan

B. U0 H<eg DIRDT AFGAT T H 9g1 GUT TGl PIRADT BT ATET &1

c.ﬁmwm:ﬂ%wmﬁmm.waﬂwﬂ%aﬂaﬁmaﬂﬁ@aww
TRRH

D. Jfafvad Iafady giee dayra vsitar &1 faser

19 f3u Tt fasedl § 4 &l I9ged SR &1 999 DifIu:

1.B,D,A,C

2.B. DA
3.CCA.D.B
4.B.ADC

Options :

68634079113. 1
68634079114. 2
68634079115. 3
68634079116. 4

Question Number : 80 Question Id : 68634020028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: "The chemiosmotic model suggests that the energy stored in eletrochemical gradient due to
difference in proton concentration and the separation of charge across the inner mitochondrial membrane -
drives the synthesis of ATP as protons move passively back into the matrix through a pore in ATP synthase."

Statement IT: Inhibition of electron movement to oxygen will block ATP synthesis.
In the light of above statements. choose the most appropriate answer from the options given below:
1. Both Statement [ and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is mcorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634079117. 1
68634079118. 2

68634079119. 3
68634079120. 4



Question Number : 80 Question Id : 68634020028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 I DU RU MU T : UD SHMNHYT (Assertion A) P U T [ § d GO 3P PRI (Reason R) &
UL

fHYE A: FHTEICE disd quidl ¢ [F saReRumie yaur & YeilRd i ol gielH Jigdr d
TR YT dRe AR aad 2o TR T BT 3T 81, ATP YIONUl & Yaledhdl ¢ oid Hield
o ©U Y 199 ATP 39 F sl gr1 Afeeq 9% omd S

BRI R: GG B 3R Tiag = HaTe H 14T, ATP YLy &I I g
Sudad B & HAE 1, f4U T faPhedi T 1 951 IR &1 98- Do

1. A 3R R 3FI 81 € R R. A DI Tel AR &

A SRR EI € IR R AT U arem gl
AFSIEAPTIR TS
AT TS AP RIS E

Options :

68634079117. 1
68634079118. 2
68634079119. 3
68634079120. 4

b2

L]

s

Question Number : 81 Question Id : 68634020029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A pregnant woman has a higher requirement of folic acid.

Statement IT: Folic acid regulates glucose levels in the growing fetus and maintains carbohydrate metabolism.

In the light of above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :
68634079121. 1



68634079122. 2
68634079123. 3
68634079124. 4

Question Number : 81 Question Id : 68634020029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 I DU RU MU T : UD SHMNHYT (Assertion A) P U T [ § d GO 3P PRI (Reason R) &
UL

firmyT A TR Afgar § wifds o & savgsdl 9¢ 9 o
BRUR: BIICTH 3T g6 Y01 H B B TR Bl (001 qUT SEerSe ST $ a0 Hdl ¢
Suded By & A 1, [4U 7T fdPedi I 9 U5l ITR & 997 B o

1. A 3R R I 961 & SRR, A DI el RS 5

2. A SRR 3HI T & IR R, A B el A el 8
3. ATE e Al R S el ©
4 AT IR AfF TR TS

Options :

68634079121. 1
68634079122. 2
68634079123.3
68634079124. 4

Question Number : 82 Question Id : 68634020030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Vegetarians are more prone towards iron-deficiency anaemia.

Statement II: Vegetarian foods typically contain certain substances which inhibit iron absorption in the body.

In the light of above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| B

. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II is incorrect

4. Statement [ 1s incorrect but Statement II 1s correct



Options :

68634079125. 1
68634079126. 2
68634079127. 3
68634079128. 4

Question Number : 82 Question Id : 68634020030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂﬁwﬁqm% : WWW[ASSW&DHA}%W ﬁ%@ﬁ%ﬁ@ﬂﬁﬁW(ReamnR}%
94,

DU A: AMBTER], TE PH! aTell THTHT & Ul 24fes Fddi §id B
HRUI R: MHERI T § $B WY Ied [N &0 J dig AN & aed a9d &
Suad Sl o D 4, [4U T fdhedi I I U5l STR &l 98- BT
1. A SR R 3 961 € SR R. A S el AR ©
A SRR &I T8l & SIRR. A DI Ue! ARAT 761 §
AT AT R TSR
AT eI g iR el §

Options :

68634079125. 1
68634079126. 2
68634079127. 3
68634079128. 4

[
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=

Question Number : 83 Question Id : 68634020031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In transgenic plants developed by prokaryotic expression systems, the expression of transgene is
very high.

Statement IT: Eukaryotic protein expression system 1s of limited use as the expression is very low mn
transgenic organisms.

In the light of above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ i3 incorrect but Statement II 1s correct

Options :

68634079129. 1
68634079130. 2
68634079131.3
68634079132. 4

Question Number : 83 Question Id : 68634020031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR syafiumue.

®YA I IRoid! g1yl H {51 [aw Hidralices 7 gR1 oM 1 d IRl 38 & §gd 9o X R
TERid B €|

B 11: gHAIE UIeH UHRH 4 &1, YRSl 1, $H e/ TauRH & ged Siiid ST gl gl
Sudad B & HAE 1, f4U T faPhedi T 1 951 IR &1 98- Do
1. PUTI AR SHI G &

e

o1 SR 1 AN e E

3. YT I 9 ¢, Afded YT 11 T &

4. FUTIHTT T, AP T HYT I TT &

Options :

68634079129. 1
68634079130. 2
68634079131.3
68634079132. 4



Question Number : 84 Question Id : 68634020032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:Cancer cells have to rely on glycolysis for their energy requirements.

Statement IT: 2-deoxyglucose has shown potential as a chemotherapeutic agent.

In the light of above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ is false but Statement II is true
Options :
68634079133. 1
68634079134. 2

68634079135. 3
68634079136. 4

Question Number : 84 Question Id : 68634020032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RSPy Ryme .
BYT [ HIR DI Y] FHoll SHaGHAT 5 TASHarerd o= U Hal 5|
HY I1: 2- SIS ™ A U JuTdl fbHiRUfcs ges & &9 U ygaH &g o |
SUed Sl o HellD 4. [4U T fdehedi T 4 U5l STR &l 98- BT
1. PY1 AR 11 3 I &

2 BYFI AR SHI A S
3. FYTI TR, AT U I 3T &

4, PYTI 3T 8. AT YT I T ©

Options :

68634079133. 1
68634079134. 2
68634079135. 3
68634079136. 4



Question Number : 85 Question Id : 68634020033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Atherosclerosis can be caused due to HDL-cholesterol accumulation.

Statement IT: Statins inhibit cholesterol biosynthesis.

In the light of above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT 1s true
Options :
68634079137. 1
68634079138. 2

68634079139. 3
68634079140. 4

Question Number : 85 Question Id : 68634020033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%fa*laﬂl:rﬁqm%:
®YF I HDL- ST UHA ¥ TIRIEH RIS Sidl |

B 11: Wfed FIoTe g TRay § 919 2
Sudad HUAl & HTdid 1, 30 Y fddedi T 1 T8l TR &1 997 Hifeld;
1. B IR 11 HI T &
2. BUT L AR I ST AT
3. DY 19 &, Al PYF I 39 ©
4. BY 1 HTA 8. A YT TA §
Options :
68634079137. 1
68634079138. 2

68634079139. 3
68634079140. 4



Question Number : 86 Question Id : 68634020034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Hormones act through specific high affinity cellular receptors.

Statement II: Steroid hormones pass through the plasma membrane of their target cells and bind to their
receptors in the nucleus.

In the light of above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4. Statement I 15 false but Statement 11 1s true
Options :
68634079141. 1
68634079142. 2

68634079143. 3
68634079144. 4

Question Number : 86 Question Id : 68634020034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR P RTME:
HY I: S [afy IR I181 & W ¥ PR a1 6 |
HUF I1: WRITS G U TRITC BIS] 31 @A f21eei! B IR $R bed 8 30 Ael P gad g |
Sudad B & HAE 1, fAU T fadhedi § 1 951 IR & 98- Do
1. FY 1 IR 11 GHI T &
2. BYT1 IR 11 ST A T
3. Y19 §. Al PYT I 39 &
4, Y1 3EY B Alce HUT 11 A &
Options :
68634079141. 1
68634079142. 2

68634079143. 3
68634079144. 4



Question Number : 87 Question Id : 68634020035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements from those given below:

A. A balanced diet contains carbohydrates. protems. fats. minerals. vitamin and some dietary fibre.
B. Deficiency of Vitamin E leads to pellagra.
C. Nutraceuticals are the substances present in food that can have specific pharmacological properties.

D. Patients suftering from phenylketonuria are advised to limit the consumption of phenylalanine in their
diet

Choose the correct answer from the options given below:

1.LA.B.C.D

| )

.B. C only
3.A.C.D only
4. A.B. C only

Options :

68634079145. 1
68634079146. 2
68634079147. 3
68634079148. 4

Question Number : 87 Question Id : 68634020035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{49 ¥ ¥ Hel YA D1 90 B -

A, Igfed HioH § Feiegdse. Ui, a9, @, [Geii= qui e dd g o |
B. faeTfi E & it ¥ damn g g

C. eIIfeoHd a8 Ued § ol HieH § JUleUd Sidx B Plicadd 01 [ad § |

D.Wﬁ%ﬁ?ﬂ.ﬁ%ﬁﬁﬂﬂﬂﬂﬁﬁ?ﬁ%ﬁ%ﬂﬁﬁ@%ﬂﬁﬁ%
19 f3u T fasedl ¥ 4 &l I9gad SR &1 99 Difolg:

1.PdTA,B.C.D

2. Had B, C

3. PAUA.C.D

4. BPAAA.B. C

Options :
68634079145. 1



68634079146. 2
68634079147. 3
68634079148. 4

Question Number : 88 Question Id : 68634020036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements:

A. Eukaryotes store energy as triacylglycerols in adipocytes

B. Transfer of phosphotidylethanolamine (PE) to the outer surface of a cell is a signal for programmed cell
death

C. Integral membrane proteins are attached firmly with the lipid bilayer and can be removed by using
detergents.

D. GPI anchored proteins preferentially are localized in the lipid rafts.

E. Plasma membrane of humans is rich in cardiolipin.

Choose the correct answer from the options given below:

1.A.B.C. D only

| )

.A. C.D only
3.3AB, C, D E

4. A, C.E only

Options :

68634079149. 1
68634079150. 2
68634079151. 3
68634079152. 4

Question Number : 88 Question Id : 68634020036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYT BT ITT BN -

A. THCY Foll Bl TEERId & &0 F TSiiase § 9eud

B. DIHI & ded] Hdg W BRBICISASUIAUAA (PE) MR, WIS HIADI O] PT IS 8
c?ﬁ%ﬁﬂﬂmﬁ:{ﬁﬁﬁ% fGER W geadl U 9o ¥6d o aYl [Se¥eic & WaRT I $ienT foar o 9dd
D. GPI ¥ 3fed UIdI= wiuffe w9 g fafts wwe W gufRid gid €

E. A4 & @iieH Rieet Srefaifafty @ var it g

i AU Y fdeedl O U 998 U ST &1 99 BIfuIg:
1.FAAA. B.C.D
2. BAAA.C.D

3. %dTA.B.C.D.E

4. PAAA,.C.E

Options :

68634079149. 1
68634079150. 2
68634079151. 3
68634079152. 4

Question Number : 89 Question Id : 68634020037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements from those given below:

A. C5 convertase 1s formed from C5a and C5b convertase

B. C5 convertase 1s formed from C3b and C3 convertase

C. C3a and C3b are formed by C5 convertase

D. The membrane attack complex consist of C5b, C6. C7.C8 and C9
E. C5 convertase is formed from C3Sab

Choose the correct answer from the options given below:

1. B and E only

| )

. C and B only
3. Aand C only

4.B and D only

Options :

68634079153. 1
68634079154. 2
68634079155.3
68634079156. 4



Question Number : 89 Question Id : 68634020037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements from those given below:

A C5PHIacg C5a qUT Csb A &1 &

B. C5 Hded C3b dYI €3 Hacd Y &dl &

C. C3a TUT C3b &1 fAHT0 €5 HAdcg T giai e

D. [l 3iTepHe YHE CS5a. C6. C7.C8 AU CO Y adl §

E.C5 ®-acd C5ab d &7 ©
I fau 7Y fasedi O O 98 U ST &1 99 HIfoIg:
1. PIUB, A
2. Hau C, B
3. BAUA, C
4, Pad B, D

Options :

68634079153. 1
68634079154. 2
68634079155. 3
68634079156. 4

Question Number : 90 Question Id : 68634020038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following are important steps in plant tissue culture technique, which is used to multiply transgenic plants.

A. Acclimatization of hardened plants

B. Spray of msecticide

C. Surface sterilization of explant

D. Inoculation of explant on culture medium

Choose the correct answer from the options given below:

1.C.D. Aonly

[ ]

.B.C.D only
3.D.B. Aonly
4.C.A. B only

Options :

68634079157. 1
68634079158. 2



68634079159. 3
68634079160. 4

Question Number : 90 Question Id : 68634020038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(4 URGHH! urey g U SHae dfdy fafd Fa g meagul §
A, BTS8 Well & S
B. Bl fsda
C. UaHWIIC Bl el LrldgeieH
D. Ifaie ATy § UaHwlic 1 313
i fau U fae el § O 98 U TR 1 99 BIfwIU:
1. $HadC. D. A
2.%dd B.C.D
3. %dd D.B.A

4. FAAC.A. B

Options :

68634079157. 1
68634079158. 2
68634079159. 3
68634079160. 4

Question Number : 91 Question Id : 68634020039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are types of ELISA ?
A. Competitive
B. Discontinous

C. Indirect
D. Sandwich

Choose the correct answer from the options given below:

LA BCD

| )

.A.B. Conly
3. A Donly
4. A.C.D only

Options :
68634079161. 1



68634079162. 2
68634079163. 3
68634079164. 4

Question Number : 91 Question Id : 68634020039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFHELISAT UPR § -

A prifefeq / ufagri
B. fegadiHem
C. SSMNaT
D. ¥gfdd
i< fau Y fae el O O 98 U ST &1 99 DI
1.FAAA. B.C.D
2. BAd A, B.C
3. BAd A, D

4. FAAA.C.D

Options :

68634079161. 1
68634079162. 2
68634079163. 3
68634079164. 4

Question Number : 92 Question Id : 68634020040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are types of eletrophoresis?
A. Competitive
B. Pulsed-field gel

C. Indirect
D. 2-Dimensional

Choose the correct answer from the options given below:

1.LAB.C.D

| )

.B.D only
3.A. C.D only
4.B.C.D only

Options :



68634079165. 1
68634079166. 2
68634079167. 3
68634079168. 4

Question Number : 92 Question Id : 68634020040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o SRR S PR §:
A. difefea / ufaart
B. U&-BIeS Widd
SZE-WH
A feu Tt fao el O § 9ad I9ged SR &1 99 BifoIg;
1.%dd A.B.C.D
2. Had B. D
3. HAUA.C.D

4. $GAB.C.D

Options :

68634079165. 1
68634079166. 2
68634079167. 3
68634079168. 4

Question Number : 93 Question Id : 68634020041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The termination of transcription process in prokaryotes is carried out by:
A. Rho (p) independent mechanism
B. Ubiquitin pathway

C. Rho (p) dependent mechanism
D. Dicer

Choose the correct answer from the options given below:

1. A. B and D only

[ ]

. C and B only
3. Aand C only

4. B and D only



Options :

68634079169. 1
68634079170. 2
68634079171. 3
68634079172. 4

Question Number : 93 Question Id : 68634020041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TigaTed | Tiferea 55 o1 Ia= 9 g farar oman &

A X (p) Wraadt fafe
B. g Iic q1yd

C. 3 (p) AR fpanfafy
D. SRR

i fGu g faedl H § WEl TR &1 98 ST
1.$ad A, B 3R D
2. %ad C 3R B
3. PAWAARC
4.%dd B 3R D

Options :

68634079169. 1
68634079170. 2
68634079171. 3
68634079172. 4

Question Number : 94 Question Id : 68634020042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

1ISTI LISTII
A }'I.aple S Une I. |Phenvlalanine hydroxvlase
Disease - ) -
B. |Phenylketonuria II. [Essential amino acid
i L Branched chain oc - keto acid
dehvdrogenase complex
D. [Valine IV, [Ketogenic amino acid

Choose the correct answer from the options given below:
1. A-ITT. B-IV. C-I1. D-1
2. A-I. B-II1. C-II. D-IV
3. A-II1. B-1. C-IV. D-II
4. A-TLL B-1. C-IV. D-III

Options :

68634079173. 1
68634079174. 2
68634079175. 3
68634079176. 4

Question Number : 94 Question Id : 68634020042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

T I Tt 11
Hud RRY A A | L [pAgeueiA gigsias
hed e g 11 [Esam ThE o
A I11. [JIRGTY $RGc Teth] Hicl 37 Slglgoloi-sl o
SRR V. [@ic] vifdd THH 3

frafarad fawel & I 96l IR &1 994 DI -

1. A-III, B-IV. C-1I. D-I

REE

|

AL B-III C-II. D-IV
3. A-IIT, B-1, C-IV. D-II
4. A-IL, B-1, C-IV, D-III

Options :

68634079173. 1
68634079174.2
68634079175. 3
68634079176. 4



Question Number : 95 Question Id : 68634020043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A legA I. |Pentamer
B. |IgE II. |Crosses Placenta
C. |leG I11. |Basophils
D. [lgM IV |Secretory component

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| )

A-1, B-II., C-IV, D-III
3. A-IIT, B-IV. C-II. D-I
4. A-I. B-II, VC-III, D-IV

Options :

68634079177. 1
68634079178. 2
68634079179. 3
68634079180. 4

Question Number : 95 Question Id : 68634020043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LIST II
A [leA 1. [d=me

B. [=E 11 |31U%1 & gRI ORI
C. [leG I11. [ giitha

D. [leM V. [&1dl gedh

Y

19 f3u T fasedl § 9 el I9ged SR &1 989 Hifolu:

1. A-IV. B-III. C-II. D-I

| ]

cA-L B-IL C-IV, D-IIT
3. A-IIL B-IV. C-II. D-I
4. A-1. B-II, VC-III, D-IV
Options :

68634079177. 1
68634079178. 2



68634079179. 3
68634079180. 4

Question Number : 96 Question Id : 68634020044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. Puromyvein I. 308 nibosome
[Kanamycin II. A site of ribosomsy

Ervthromvemn | IIL |165 tfRNA
. |Streptomyvein | IV [235 tRNA

o] fo] o] b

Choose the correct answer from the options given below:

1. A-III. B-IL. C-L. D-IV

| E)

CA-IV. B-II, C-III. D-I
3. A-IL B-III. C-IV. D-I
4. A-I. B-II, C-III. D-IV

Options :

68634079181. 1
68634079182. 2
68634079183. 3
68634079184. 4

Question Number : 96 Question Id : 68634020044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T I T 1T
TREERE | L [os TEamE
B | I [SEE @A U
URYMAREA |11 165 IRARTAT
. [EvmEiEE |V s dRaR T

FfaiRad f[deedl § O Uel 3ok &l 944 DI

1. A-IIIL, B-II. C-L. D-IV

ofofw]s

|

CA-TV, B-11L C-I11. D-I
3. A-IL B-III, C-IV. D-I
4. A-1, B-I1, C-III. D-IV

Options :



68634079181. 1
68634079182. 2
68634079183. 3
68634079184. 4

Question Number : 97 Question Id : 68634020045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Actin 1. |Binds along the thin filaments
B. PMyosin II. [Binds along the length of thin filamentg
C. |Tropomyosin | Il |[Component of thick filament
D. [Troponin IV |Component of thin filament

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| ]

. A-IT, B-1, C-II1. D-IV
3. A-IIT, B-IV. C-II. D-I
4. A-IV, B-1II. C-II, D-I

Options :

68634079185. 1
68634079186. 2
68634079187. 3
68634079188. 4

Question Number : 97 Question Id : 68634020045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 T 1
HEE 1. [gdc dd & Ty §féd
EIEE] 11 [0 dq & sy & 91y g
eoEEd |11 [ dq @ ol
cIgi- IV. [4cci dd & 9

fafarad fawent § T 96l SR &1 997 SO -

1. A-I. B-II. C-III. D-IV

ofolw>

| o

A-ILL B-1, C-III. D-IV
3. A-III, B-IV. C-II. D-I
4. A-IV. B-IIL C-II. D-I

Options :

68634079185. 1
68634079186. 2
68634079187. 3
68634079188. 4

Question Number : 98 Question Id : 68634020046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Angiotensin - I1| 1. |Control of body temperature
B. [Dopamine II. [Emotional response
C. |Serotonin III. |Stimulates thirst
D. [Endorphin IV [Induces of sleep

Choose the correct answer trom the options given below:

1. A-IV, B-III. C-II. D-I

| ]

. A-ITL, B-IIIL, C-IV, D-I
3. A-IIL B-II. C-IV. D-1
4. A-I. B-II, C-II1. D-IV

Options :

68634079189. 1
68634079190. 2
68634079191. 3
68634079192. 4



Question Number : 98 Question Id : 68634020046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gl 11 9 e siforg

T I T 1T
_[ofsmt e - | 1 RRR a9 &1 HdE
EICIEIE I1. [JTaraTe Ufdfhan
BINEEIE] 111 [T AT

TR V. Hig i@
Fafafad Aol ©§ O 9t 9o &1 99 Bl .

1. A-IV. B-IIL. C-II. D-I

o|o|w|>

| ]

. A-ILL B-IILL C-TIV, D-I
3. A-III, B-1I, C-IV. D-I
4. A-1, B-II. C-III., D-IV

Options :

68634079189. 1
68634079190. 2
68634079191. 3
68634079192. 4

Question Number : 99 Question Id : 68634020047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Sucrose I. |The dimer derived from the hvdrolysis of starch and glycogen)
B. [Lactose I1. |A major circulatory sugar in insects: used for energy
C. |Trehalose I11. |A major animal energy source
D. Maltose IV, |A product of photosynthesis

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| E)

CA-L B-III, C-IV. D-II
3. A-IL B-1, C-IV, D-III
4. A-IV. B-1I. C-III, D-I

Options :

68634079193. 1

68634079194. 2
68634079195. 3



68634079196. 4

Question Number : 99 Question Id : 68634020047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen
T T T 11
A [gHis 1. [ ud Teig el ¥ 3w SIghR
B. [daeld 11 [®iceh! H T URTR Aol Sl $ 0 T
C. [¢iga 111 |3 Sid Sl Fid
D [ IV, [HhT=1 Y=Y $1 3G
frafafad fdeeal & 9 9l SR &1 994 Sifo :

1. A-IV. B-III. C-II. D-I

| ]

A-L B-IIIL C-IV. D-II
3. A-IL B-I, C-IV, D-III
4. A-IV, B-I1, C-III, D-I

Options :

68634079193. 1
68634079194. 2
68634079195. 3
68634079196. 4

Question Number : 100 Question Id : 68634020048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1 LISTII

The amino acids with maximum number of
A I |Tp

codon

B The characteristic amine acid in

; R IT. |Ser
lysozvme active site
C T_he amum_acn:l precursor in heme 11 lciu
biosynthesis
D The amino acid contributing the most V. [Gly

" lprotein absorbance at 280 nm

Choose the correct answer from the options given below:

1. A-II. B-III, C-IV., D-I

[ ]

AL B-ITL, C-IV, D-I
3. A-L, B-II. C-III. D-IV
4. A-I. B-IV, C-I1I, D-IT

Options :

68634079197. 1
68634079198. 2
68634079199. 3
68634079200. 4

Question Number : 100 Question Id : 68634020048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
il Tl I
A [THFT 3T fYdad digH T & 91y L [P
B. [59gE Wishd ued H (929 Uil o 11 [Ser
C. [619 o9 S=eivor | gd 7E] A1 3 1L [Glu
D. [0HH 37 Sl 280nm TR SAfE® UicH Hauiuddl &l gl IV. |Gly
FHfRad fdeedl O U 98! SR &1 994 Sifoy :

1. A-II. B-III. C-IV. D-I

| ]

AL B-ILL C-IV, D-I
3. A-1, B-II. C-III. D-IV
4. A-1. B-IV, C-III, D-II
Options :

68634079197. 1
68634079198. 2



68634079199. 3
68634079200. 4



